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<FEBHRE>

« BRE BNEOFLAATE. EEERBERT.
s MHOREFHBID(BE)ESROIL.

ie81 (3R X 3E=9R)

BRB)DEEELT, RELR(4,), BiE&E(4,), BA
V(A MEBZLOND. ROT—ADDH>TNSEE, B
BORRENAXTEICKYEEMITRD £

<BRTFEE. RRANELHEE>
P(A) =30%,  P(A,) =60 %,

<BEREMNSHERNELDHHER>
P(B|A;) = 50 %, P(B|A,) = 30 %, P(B|A3) = 20 %

P(A5) = 10%

<KROHEE BRMDEESNDIRRDHEE>

- RETEVBTH AHEEMEEAN) TRTCL. P(A4[B),  P(4;|B),  P(43|B)
FIREAMRIEEURLERA. HEIB> TS, "
< fRE > RAZXDFERBIZK DTSR
<EZ> (58 =035 fAIRE2(10R)
B B P(A1)P(BlA;) + P(A1)P(B|A)
A, ARLR +P(A,)P(B|A,) + P(A,)P(B|A,) ZOMNYAORERSIZEE, ZOBEDOMMN8THY, H
A, BiEE 110 B3R H->TV:-. &EB, ZOY(IADEER
Ay BAHY (72F) NTLE-z. CDEEEDOIERZE(EVM) ERO K.
<ERTHEE> P(A;|B) = P(4;)P(B|Ay) = 0.15
P(4,) =03 P(4,|B) - P(4,)P(B|A,) = 0.18
P(4,) = 0.6 P(43|B) —» P(A3)P(B|A43) = 0.02
P(A3) = 0.1
<BRR->HEROEE> | <ER-REROHEE>
P(B|A;) = 0.5 P(A;|B) = 0.429 = 42.9 %
P(BlA,) = 0.3 P(A,|B) = 0514 =51.4 %
P(BlA3) = 0.2 P(43|B) = 0.0571=571% _ A

<fREHI>
ZODYA(OODHDEE (L6 X 6 = 36U THS.

OWHIE, BOMA8THY, EOHEAEHLELER M
TW5DT, BEOMEEEIF1BEYTHS.
% .p, =1/36
BCIERE 1, = —log,p; = 5.17[bit]

@®xIZ, BOMN8THAH, BOMAEHEMNFAT
HBHDT, ROSEYDHEEHLHS.
(2, 6), (3,5), (4, 4), (5, 3), (6, 2)
=% .p, =5/36
BCIERE 1, = —log,p, = 2.85[bit]

Q%rbni-tE|E: =1, — I, = 2.32 [bit]

fEIRE3 (10:%)

HBIIRDALERIL20,000 A ThHo1=. ZDA
RIFLUTOESIZH-TULV-. #EE&ITUFAE—%ERH L.

(H451)

30F K& 12,000A, 30FLLL:8,000A
(Hhig A1)

BEERE: 16,000 A, BEE LIS} :4,000A

<BEHI>

BRa:30F R  pg =12/20=3/5
F£Ra,:30FULE  pL,= 8/20=2/5
=5bEHREAE pp1 = 16/20 = 4/5
ERb, ERBELS p,, = 4/20=1/5
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EEEROMER s 4 R84 (44+443=115)
(ay,by) - p11=§><§=£ . e — e
337 3 2ADZEED20H B ORKEELTIZRY. 2 A&
(a;,b3) = p12 =gXg=33 DIVRAE—H(A),HB)ERD &L 51T, 2ADTY
2 4 8 FEE—DEDZEVCOVWTERE L (TUFAE—D
(a2,b1) = pu=gXg=3¢ EREBESMITEDSVTGEVWERAT D)
2 1 2
(az,by) - Pz =g Xz =o¢ s S A B C
NoDEREHSIUNAE—DKITKRAT 5. AZE 2 10 7 1
2 BE 6 5 4 5
H(A) = — z pijlog,pi;
=
12 12 3 3 g 8 2 2 (%)
= —5clog2 oz —orloga 5= — oxlogy e — oo logy o logz3 =158,  log,5=232, log,7 = 2.81
=1.69 [bit] 7

<FREHI>

AZE: ps=2/20, py =10/20, pg =7/20, pc = 1/20

H(4) = Z —pilog,p; = 1.58 [bit]
i=(5AB,C)
BE: ps = 6/20, ps = 5/20, ps = 4/20, p; = 5/20

HB)= ) —pilog,p; = 199 [bit]
i=(5,A,B,C)

H(A) < H(B) D
IVFOE—IEBRIERITRETHS.

AZDRHEIZA, BIZEHRLTEY, FRILAL (BERSH
INESWY). BEDBEIFXS~CIZABHLAFHLTHEY, ¥
BIAEELLY (BERIAKELY).




